SUMPOERIEIANITOII L

SE”""i':’f’D SuMPO EPD R AY AT IR R
'0 S4TNBESE (EPD) ST REEAHE1T-14-8
MERLELED KANDA SQUARE GATE
B8x&EF= © JR-AI-25194E https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BITJAIL EVRRX 4/R-Va kKAt
FUJIFILM Business Innovation Corp.

A3 HS—EEH (BEHK)

Remanufactured Product

A3 Color Multifunction Printer

R ApeosPort C3570 R (for TW)

4 ]
Apeos. Apeos 0. ApeosPro. ApeosPort . $&U ApeosPrint (&, EXTAIAESRRA IR MRS OSIRFERELIEHIETT,
Xerox. Xerox 07, B&LUFuji Xerox O0J(&. KETOYI AL OB IREIEEEEHIETY,

BEHEN ERES JR-AI-25194E
P EAPCREFS  PA-590000-Al-08
PCR% B A E D HER
BEMNRERPE A 2026418308
WSkt mEdnE REEETEE  2025€11811H
ORMEAE QEE OB @M - T REEA R VAT LRE AR
®FZE-UY1II RALES 2025-FB-EL-049
REEEZNHEAR 20304118108
HEmOBRN, TEMLK-FET PCRLE1-DEIHE
Bz : ApeosPort C3570 R REHS 2023%F 98 1H
FEMK  H5-EEHE EPHR) ZER B Ex
ENRIEE : T/70 35ppm (A4 LEF) (FiB — Mt EiE AY AT T IR B HEE )
$H5- 35ppm (A4 LEF) F=ERAE BT
BARMBYIZX A3, 12 x 18" (305 x 457 mm), NEMIREES
SRA3 (320 x 450 mm)
TUY /=% ISO14025(C 2 AT & R U T—5 O LIAREE
fE EEN R EE/ADF (R fa B BhFtAH) OAEB WAHED
*AT LRI LB EEENORTOBAR, YATLARTET-LEEED
HRIEE .

BMnahtse BEIAMIWALESRIAINR—33>ikkett
EaEhAXAREHFS V6T B1E
https://www.fujifilm.com/fb/

F#FES ¢ JR-AI-25194E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SUMPO SuMPO EPD SUMPOREESIANITOIT A

EPD - —BHEEAY AT IR
| .0 S14TNRIEEE (EPD) ERHBTFARERAME-14-8

YERIEEED KANDA SQUARE GATE
BRES JR=AI-25194E https://ecoleaf-label,jp

S1TY1 VIR EE R

FRREE | WASE | AR ﬁfg’ﬁfﬁ Py
SUREE) - &F kg-COzeq 3.66E+02 2.87E+01 4.52E+01 1.26E+02 1.54E+02
AV EHIE kg-CFC-11eq |  4.44E-05 4.53E-08 3.51E-08 3.91E-06 3.35E-08
EXREL kg-PO43-eq 1.16E-02 1.18E-03 1.88E-04 5.45E-03 1.84E-04
[:4e2(d kg-SO2eq 1.00E+00 1.82E-01 6.46E-02 5.91E-01 1.66E-01
HALZAFIY Vb kg-CzHseq 1.01E-02 6.25E-05 4.39E-04 1.11E-03 1.30E-03
FEYMEREE - 1LY kg-Sbeq 4.31E-01 9.96E-05 1.46E-05 4.50E-02 3.23E-05

F1THLIIWAIRY B 3 IRESEE R

—REROEMICETY 361R
. g g 2R - HERF

R | BLERRE BB e BESERRRE
BAEFE—RER - IRILF- (RPRp MJ 7.41E+02 2.28E+02 9.91E+00 6.45E+02 7.26E+01
BEAE—RER - TRIF-2BME (RPRy) MJ 1.56E+01 3.84E-03 2.52E+02 6.50E+02 1.37E-02
FBERE—REAR - TRLF- (NRPRy) M) 5.79E+03 9.50E+02 5.23E+02 3.06E+03 847E+02
BT —RIR - TRLF-BHHH (NRPRy) M) 1.04E+03 2.90E-01 5.36E+00 2.55E+02 1.78E-01
PKOHEEE m? 2.93E+00 2.48E-02 2.65E+01 6.86E+01 1.30E-02

HEREICETZEMIER
-BEEERGRELTEELELE,
EAKEPHRN)DZEYFUATEELTVET,
- ROEEEARMESEMTY,
{EA - ISR LB T RENRI AR BT EEENE A
MEARBOEAE, IRINF-AY-T0I5LVer.3 2B # (A > TCRIE LETECIER TICEE LELE,
R EENRIM L, 182,400 TT,
1/4x 32 (YaJ/B) x 19(82) x 5 (B) x 4 (B) x 12 (5 A) x 5 (5F) = 182,4004%
AR FRFTEROEREFAERNSEIULERREEZBAALTSY . EMRFRAEERCBVTBEBROBNEERLTEELTVET,

2O DREREIER

MRBSUMEICRY 8RS EEVEICEIZIER

- ME (ERES) Hify HH CAS No. B
L@ 63 kg - - -
Sus 1.2 kg - - -
TIVIZOL 0.85 kg
zZofteE 10 kg ERALEZRT-YDEXSH
T3AFvY 43 kg [REAI(E, LCIT-9R-IDEA Ver.3.4, SUMPOREINIL TOIS L& FT -
N 0.20 kg Ver1.16EEALTVEY,
A5 1.8 kg
- A 10 kg {im&
FLE A FEEAR 4.1 kg -
pa i 6.4 kg
Z0ft 5.8 kg

OT-FIHEDHEF. PCRELUVBEE - EEREESRBL LI,
OLLRIIOVTR, BE - EERBICREINLRGLELLIISEICLIRYONEEA,
(BHFURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

